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THERMAL ENGINEERING - II
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Note : There are THREE sections in the paper A, B and C.

(i) QT CH I GEIT1 F 10 9771 & I HIST | I 9% 917 @ 37 BT 8 TF
A 10 577 TGE FHR F T F & [

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) BT & F 8 Fv1 7 G 587 6 ¥y & IR I | 59% I97 3 3% HT 8 @
SHHTS T / 50 5] 7 I o /

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QT & F6 3571 7 @ 5T 4 39791 & I AT | I9F J97 8 3F FT 8 0T
FTHT15 3T / 150 Yrg) 7 3R g |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) FAF QA & T I F FHIR T G 5T FHT |

Solve all the questions of a section consecutively together.
i) g1 aTIsT § 3R 817 #1 R 7 s smgare & w8

Only English version is valid in case of difference in both the languages.

JRA - T
-SECTION -A
1L () Gon s g ewers e wown et g -
(a) SAAXTH (b) I TH
(c). S[E=Esh (d) SAH
The open cycle gas turbine works on
(a) Otto cycle (b) Diesel cycle
(c) Joule cycle (d) Dualcycle
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(a) GeT=sh (b) w<EwH
(c) IGTTTH (d) T ARETE
The type of gas turbine used in an aeronautical engine is
(a) Opencycle ' (b) Closed cycle
(c) Semi closed cycle (d) None of the above
(iii) T Y STERAT, 100 °C AT T, Tl WY & TeaTsq & HV & B &, Hgeme! 8
(a) 7% ¥ (b) I TG HTT
(c) ferawa wmg (d) AR TE
State of steam at 100 °C, when there is no water vapour particles in steam is
called
(a) Wetsteam (b) Dry saturated steam
(c) Superheated steam (d) None of the above
(iv) 3T ST} TH -
(&) Yo (b) e A

() Twwigh ifmeEer @) vk gsE

Wet vapour is a |

(a) Pure substance (b) Perfect gas

(¢) Mixed phase of liquid & gas (d) Completely dry gas

(v) 3Ny 3= @ SR & -

(a) CIPNRREEER (b) SEhish TF feTehiad ST
(c) TR Siaer (d) <ieRmmfea STaeR
Modern high pressure boiler is
(a) Lancashire Boiler (b) Babcock & Wilcox Boiler
(c) Lamont Boiler Locomotive Boiler
(vi) maﬁmﬁ*m%m@ﬁaﬁﬁwﬁzéwﬁ%m $F T IYHT
ERERRIIR N
(a) CrEmTdt (b) ‘G’T%Fﬁ?l T
(c) amaed (d) WY U qTed
Which equipment is used to save the boiler from explosion, due to high
pressure ? _
(a) Pressure gauge (b) Fusible plug
(c) Safety valve (d) Steam stop valve

(vii) TSTeT % fAehTE 9 9T ST 3T BT | -

(a) 4434+/h, -, (b) 447240 =1,
(©) 44.72+[h,— 1y (d) 44.78+[h,— D,

The velocity of steam, at the exit of a nozzle is

(a) 4434+fh —h, (b) 44.72+[h,—h,
(c) 44.72+fh,—h, (d) 44.78+[h,—h,
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(ix) TS AT &, W79 It 1 TRad Bar 2 -

@) TEFHRTRESAT (b)) R ot B e T

) RfesEisTastd @) =988

Conversion of steam energy in impulse turbine is
(a)  Pressure energy into Kinetic energy

(b) Kinetic energy into Pressure energy .

(c) Potential energy into Kinetic energy

(d) None of the above

(x) 9 TN IS B R, mwﬁmmagﬁzﬁ% -

(a) @ (b) Rrepan
(©) I (d) T dHE T
When a nozzle is “choked”, the mass flow rate of steam is
(a) Zero (b) Maximum
(¢) Minimum (d) None of these
Y — ot
SECTION -B
IIGE S T8 N g ) gert il |
Compare I.C. Engine and Gas turbine.
= ) aforfs i -
Define the followings :
(i) g um
Wet steam
(i) I WY
steam
(iii) Dalgﬁﬁ IR

Superheated steam
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15.

g ieTel 1 & 2 ST Sitoret Y AR - ST it S 7

What is steam nozzle ? Why does a steam nozzle is made convergent-divergent ?
1) AT SR S et et sterer st forfed |

Write the difference between fire tube boiler and water tube boiler.

' aﬁa&nﬁsznﬁxaﬂniisnﬁznét“3qaﬁmﬁ”€s=an%ﬁtﬁh|

Write the names of “A ccessories” used with boiler.

g <taTea w1 afienter HiRT |
Classify gas turbine.

ST TTETE TS WA TTE Y e HIT |

Differentiate between Impulse & Reaction turbine.
T ZETE 3 SRR & ST o T & 7 Ha H T |

What do you understand by governing of steam turbine ? Explain in brief.

e —
SECTION ~-C
1
e m % foru, forg Hifve foe ‘T3] HTh G B & = 1 g
"
&t r T g ST & |
Prove that an “Air standard efficiency” for Brayton cycleism=1- -—1"11
@’

Where r is a pressure ratio.

3qfﬁn1%ﬁﬁﬁuvﬁiigpaﬁnfh=raﬁianﬁdﬁféﬁxvwa@faaaﬁn%nﬁnsa|
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Explain the process with neat sketch to find dryness fraction by throttling calorimeter. (8)
9iﬂtaﬁiq1$nqiﬁtuﬁaﬁ?ﬁtsian:ﬂt%t&sﬁSﬂazﬁﬁﬁé,zﬁéfnqzﬁtgpaﬁniiﬁq(LSEh|

Find out enthalpy & internal energy of steam at 9 bar, if dryness fraction of steam is 0.8.

eTreee ST S T T SR SR T |
Explain working of a “Lamont boiler” with neat sketch.
ST AT 3 ST < ST 1 G T i |
Derive formula for critical pressure ratio of steam nozzle.
iy e wfer feoaftrrt fafe : (P R)
Write short note on the followings : (any two)
() ¥ EAI ST T

Velocity compounded Impulse turbine.
(i) I TV

Stream jet injector
(iti) IR AH I

Boiler mounting and accessories
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